Name _______________________________________________
Math 2050, Exam I, Spring 2006

1. Find the distance between the points (3, -1) and (5, 7).


[image: image1.wmf]17

2

68

64

4

)

8

(

)

2

(

)

7

1

(

)

5

3

(

2

2

2

2

=

=

+

=

-

+

-

=

-

-

+

-

=

d


2. Find the intercepts of the graph 
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.  Sketch the graph of the function and label the intercepts.

x-int: 0=(x-5)(x+2)
(5,0) and (-2,0)
y-int: (0, -10)

[image: image3]
3.  If a company makes a product for $4 per item it sells, with a fixed cost of $250, their costs can be represented by the equation C(x) = 4x + 250.  If they can sell the item for $11, their revenue equation for the same product is R(x) = 11x.  How many items does the company have to sell to break even?

4x+250=11x
250=7x

x=250/7 ≈ 35.71 or 36 items

4. Find the line perpendicular to the line 
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 and passes through the point
(-1, -2).
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5. a) Determine whether the following equation represents a function: 
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b) State the domain of the function: 
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6. Given 
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 , find the following:
a) g(-1)

(-1)2+4=5
b) f(k-1)

2(k-1)-3=2k-5
c) 
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2(x2+4)-3=2x2+5
d) 
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7. Consider the function 
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a) Find 
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2(1)-1=1
b) Given that 
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?  If it does not exist, write DNE.

DNE since the two limits don’t match
8. a) Find the 
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b) Is the function in part a) continuous at x=1?               YES                 NO

9. a) Find the derivative of the function 
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.  [Hint: You can use #6d.]
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b) Find the equation of the tangent line to g at the point (-1, 5).

g′(-1)=-2
y-5=-2(x+1)
c) Verify your result from part a) using the power rule and constant rule.  Do your answers match?

g′(x)=2x, they match
d) If g represents the motion of a particle along a trajectory, what does the slope of the tangent line in part b) represent?  Use your own words.
For each unity in x (positive) the particle moved negative 2 in y
10. Find the derivatives of the following functions:
a) 
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b) 
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11. Find the derivative of 
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